Table 4.7 Distribution of the use of subject-verb agreement error 
	No.
	Student’s Initial
(1)
	Type of Errors
(2)
	Error Form
(3)
	Frequency of Occurrence
(4)
	Source & Cause
(5)
	Correct Form
(6)

	1
	APP
	The Use of Number Agreement
	But, there was some conflict1…
	1
	Intralanguage error

Indeterminacy of number agreement 
	But, there were some conflicts1…

	
	
	The Use of Tense Agreement
	-
	-
	-
	-

	2
	APS
	The Use of Number Agreement
	Even though there were several miscommunication1 
	1
	Intralanguage error

Indeterminacy
of number agreement rules
	Even though there were several miscommunications1 

	
	
	The Use of Tense Agreement
	The party who receive1 25% of national vote, was out of number.
	4
	Intralanguage error1,2,3,4

Simplification by using present form instead of past form
	The party who received1 25% of national vote, was out of number.

	
	
	
	As the former parties which hold2 the flag were PDI-P and Gerindra
	
	
	As the former parties which held2 the flag were PDI-P and Gerindra

	
	
	
	Jokowi and Jusuf Kalla take3 the responsibility of the election
	
	
	Jokowi and Jusuf Kalla took3 the responsibility of the election

	
	
	
	The KPU announced both of them, govern4 Indonesia legally…
	
	
	The KPU announced both of them, governed4 Indonesia legally…

	3
	ATR






(1)
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement



(2)
	The election is1 different in every part of Indonesia, where the people have2 different opinions of who is3 the best to become the Indonesian president.
(3)
	3




(4)
	Intralanguage error1,2,3

Simplification of using present form instead of past form

(5)
	[bookmark: _GoBack]The election was1 different in every part of Indonesia, where the people had2 different opinions of who was3 the best to become 
(6)
the Indonesian president.

	
	
	
	Many lower class people of Indonesia see1 Joko Widodo as a friendly and a simple person who can2 perfectly blend…
	2
	Intralanguage error1,2

Simplification of using present form instead of past form
	Many lower class people of Indonesia saw1 Joko Widodo as a friendly and a simple person who could2 perfectly…

	4
	AFN
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement
	Not only man can1 be the participants, but also woman can2 too.
	2
	Intralanguage error1,2,3,4

Simplification by using present form instead of past form
	Not only man could1 be the participants, but also woman could2 too.

	
	
	
	Each party has3 1 candidate…
	2
	
	Each party had3 1 candidate…

	
	
	
	There are4 PDI and Gerindra party.
	
	
	There were4 PDI and Gerindra party.

	5
	AK

















(1)

































(1)
	The Use of Number Agreement
	There Ø1 lot more that…
	1
	Interlanguage error1,2
(Indonesian interference)

Indeterminacy
of number agreement rules and direct translation from Indonesian
	There were1 lot more that…

	
	
	
	There Ø2 more controversial about him
	1
	
	There were2 more controversial about him

	
	
	The Use of Tense Agreement









(2)

































(2)

	Two years ago is1 the hottest presidential election.
	1
	Intralanguage error

Simplification by using present form instead of past form
	Two years ago was1 the hottest presidential election.

	
	
	
	They are1 both the famous people in Indonesia and have2 the strength to win the election.
	2
	Intralanguage error1,2

Simplification by using present form instead of past form
	They were1 both the famous people in Indonesia and had2 the strength to win the election.

	
	
	
	While Joko Widodo was Solo’s major that Ø1 very loved by his people, and have2 been as a 
(3)
government of DKI Jakarta
	2


(4)
	Interlanguage error1
(Indonesian interference)

(5)
Indeterminacy of tense agreement rule and direct translation from Indonesian 
	While Joko Widodo was Solo’s major that was1 very loved by his people, and 
(6)
had2 been as a government of DKI Jakarta

	
	
	
	
	
	Intralanguage error2

Simplification by using present form instead of past form
	

	
	
	
	But, there Ø1 lot more that support him
	1
	Interlanguage error
(Indonesian interference)

Indeterminacy of tense agreement rule and direct translation from Indonesian
	But, there were1 lot more that support him

	
	
	
	Jokowi has1 the more progressive campaign than Prabowo
	1
	Intralanguage error

Simplification by using present form instead of past form
	Jokowi had1 the more progressive campaign than Prabowo

	
	
	
	He also use1 plaid shirt…
	1
	Intralanguage error

Simplification by using present form instead of past form
	He also used1 plaid shirt…

	
	
	
	But, there Ø1 no much I remember2 about Prabowo
	2
	Interlanguage error1
(Indonesian interference)

Indeterminacy
of number agreement rules and direct translation from Indonesian
	But, there was1 no much I remembered2 about Prabowo

	
	
	
	
	
	Intralanguage error2

Indeterminacy of tense agreement rule
	

	
	
	
	The thing I know1…
(3)
	1
(4)
	Intralanguage error
(5)
Simplification by using present form instead of past form
	The thing I knew1…
(6)

	
	
	
	People still remember1 his fault…
	1
	Intralanguage error

Simplification by using present form instead of past form
	People still remembered1 his fault…

	
	
	
	His love life that Ø1 unclear 
	1
	Interlanguage error
(Indonesian interference)

Indeterminacy
of number agreement rules and direct translation from Indonesian
	His love life that was1 unclear 

	
	
	
	Then, when July comes1, people was so worried who will2 win but we are know3 what happen4.
	4
	Intralanguage error1,2,3,4

Simplification by using present form instead of past form
	Then, when July came1, people was so worried who would2 win but we knew3 what happened4.

	6
	AP















(1)
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement












(2)
	It was one of… that will1 decide what kind of future Indonesia will has2
	2
	Intralanguage error1

Simplification by using present form instead of past form
	It was one of… that would1 decide what kind of future Indonesia would have2

	
	
	
	
	
	Intralanguage error2

Indeterminacy of  the use of modal auxiliary
	

	
	
	
	Prabowo Subianto-Hatta Radjasa are1 from Gerindra party.
	1
	Intralanguage error

Simplification by using present form instead of past form
	Prabowo Subianto-Hatta Radjasa were1 from Gerindra party.

	
	
	
	While Joko Widodo-Jusuf Kalla are1 from the coalitions of PDI-P 
(3)
and Golkar
	1

(4)
	Intralanguage error

(5)
Simplification by using present form instead of past form
	While Joko Widodo-Jusuf Kalla were1 from the 
(6)
coalitions of PDI-P and Golkar

	
	
	
	Each candidate has1 their own style…
	1
	Intralanguage error

Simplification by using present form instead of past form
	Each candidate had1 their own style…

	
	
	
	…and it Ø1 considered as a success campaign.
	1
	Interlanguage error
(Indonesian interference)

Indeterminacy of tense agreement rule
	…and it was1 considered as a success campaign.

	
	
	
	…they become1 the president and vice president until now.
	1
	Intralanguage error

Simplification by using present form instead of present perfect form
	…they have become1 the president and vice president until now.

	7
	ANG
















(1)
	The Use of Number Agreement
	The two candidates of presidential election was1 from…
	1
	Intralanguage error

Indeterminacy of number agreement rules
	The two candidates of presidential election were1 from…

	
	
	
	There Ø1 only two candidates…
	1
	Interlanguage error
(Indonesian interference)

Indeterminacy of number agreement rules and direct translation from Indonesian
	There were only two candidates…

	
	
	
	Some people and the member of Gerindra was1 making some complaints…
	1
	Intralanguage error

Indeterminacy of number agreement rules
	Some people and the member of Gerindra were1 making some complaints…

	
	
	The Use of Tense Agreement

(2)
	Some people and the member of Gerindra was making some complaints and wanted the 
(3)
election remake1
	1


(4)
	Intralanguage error

Simplification by using present
(5)
 form instead of past form
	Some people and the member of Gerindra was making some complaints 
(6)
and wanted the election remade1

	
	
	
	Finally, all cases can be1 solved
	1
	Intralanguage error

Simplification by using present form instead of past form
	Finally, all cases could be1 solved

	
	
	
	Joko Widodo is1 chosen…
	1
	Intralanguage error

Simplification by using present form instead of past form
	Joko Widodo was1 chosen…

	8
	CRS
	The Use of Number Agreement
	…two candidates for the Indonesian president, there are1 Prabowo Subianto and himself.
	1
	Intralanguage error

Simplification by using present form instead of past form
	…two candidates for the Indonesian president, there were1 Prabowo Subianto and himself.

	
	
	
	How that obstacles Ø1 so annoying in the social media…
	1
	Intralanguage error

Indeterminacy of number agreement rules
	How that obstacles were1 so annoying in the social media…

	
	
	The Use of Tense Agreement
	There are1 so many obstacles during the vote counting
	1
	Intralanguage error

Simplification by using present form instead of past form
	There were1 so many obstacles during the vote counting

	
	
	
	Even, it mades1 problem between people who vote2 Jokowi and people who vote3 Prabowo
	3
	Intralanguage error1

Overgeneralization the use of present form in past form
	Even, it made1 problem between people who voted2 Jokowi and people who voted3 Prabowo

	
	
	
	
	
	Intralanguage error2,3

Simplification by using present form instead of past form
	

	9
	DMM


(1)
	 The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense 
(2)
Agreement
	This is1 not the first time for 
(3)
Indonesian…
	1
(4)
	Intralanguage error1-11
(5)

Simplification by using present form instead of past form
	This was1 not the first time 
(6)
for Indonesian…

	
	
	
	And we can2 see the antusiasm of the people…
	1
	
	And we could2 see the antusiasm of the people…

	
	
	
	The two candidates’s team has3 their own campaign system…
	1
	
	The two candidates’s team had3 their own campaign system…

	
	
	
	They make4 a poster design competition and the winner will5 get a special gift.
	2
	
	They made4 a poster design competition and the winner would5 get a special gift.

	
	
	
	They share6 free tees and merchandise
	1
	
	They shared6 free tees and merchandise

	
	
	
	Especially for Joko Widodo and Jusuf Kalla has7 their own tagline…
	1
	
	Especially for Joko Widodo and Jusuf Kalla had7 their own tagline…

	
	
	
	But, the most important is8 how the way people…
	1
	
	But, the most important was8 how the way people…

	
	
	
	This make9 not only adult people but also the teenager, who actually can’t10 vote directly…
	2
	
	This made9 not only adult people but also the teenager, who actually couldn’t10 vote directly…

	
	
	
	They are11 so active…
	1
	
	They were11 so active…

	10
	FHR










(1)
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement






(2)
	Couples elected candidates are1 candidates who get2 vote more than 50%…
	2
	Intralanguage error1,2,3,4

Simplification by using present form instead of past form




(5)


	Couples elected candidates were1 candidates who got2 vote more than 50%…

	
	
	
	At least 20% of the votes in each province are3scattered…
	1
	
	At least 20% of the votes in each province were1 scattered…

	
	
	
	In case, no candidate pairs voice acquisition meets4 these 
(3)
requirements…
	1

(4)
	
	In case, no candidate pairs voice acquisition met1 
(6)
these requirements…

	11
	FFA
	The Use of Number Agreement
	The president candidates or their vice1
	1
	Intralanguage error1,2,3

Indeterminacy
of number agreement rules 
	The president candidates or their vices1

	
	
	
	…their own drama2
	1
	
	…their own dramas2

	
	
	
	…about the development of their drama3…
	1
	
	…about the development of their dramas3…

	
	
	The Use of Tense Agreement
	…that he’s1 not there or never involve2
	2
	Intralanguage error1,2

Simplification by using present form instead of past form
	…that he was1 not there or never involved2

	12
	JV





















(1)
	The Use of Number Agreement
	The first party were1 Prabowo Subianto and Hatta-Radjasa, and the second party were1 Joko Widodo and Jusuf Kalla.
	2
	Intralanguage error1,2

Indeterminacy
of number agreement rules
	The first party was1 Prabowo Subianto and Hatta-Radjasa, and the second party was1 Joko Widodo and Jusuf Kalla.

	
	
	The Use of Tense Agreement















(2)
	12 parties has1 joined in the national legislative elections.
	1
	Intralanguage error

Simplification by using present form instead of past form
	12 parties had1 joined in the national legislative elections.

	
	
	
	The parties that have1 joined in the legislative election was2 conducted to be…
	2
	Intralanguage error1

Simplification by using present form instead of past form
	The parties that had1 joined in the legislative election were2 conducted to be…

	
	
	
	
	
	Intralanguage error2

Indeterminacy of tense agreement rules
	

	
	
	
	The result of legislative elections out1…



(3)
	1




(4)
	Interlanguage error
(Indonesian interference)

Direct translation from Indonesian 
(5)
	The result of legislative elections was out1…



(6)

	
	
	
	Both parties have1 various campaign strategies
	1
	Intralanguage error

Simplification by using present form instead of past form
	Both parties had1 various campaign strategies

	
	
	
	And Prabowo’s side has1 said to illegalize the corruption in Indonesia.
	1
	Intralanguage error

Simplification by using present form instead of past form
	And Prabowo’s side had1 said to illegalize the corruption in Indonesia.

	13
	KMA
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement
	The candidates for the Indonesian president are1 Prabowo Subianto-Hatta Radjasa and Joko Widodo- Jusuf Kalla.
	1
	Intralanguage error

Indeterminacy of tense agreement rules
	The candidates for the Indonesian president were1 Prabowo Subianto-Hatta Radjasa and Joko Widodo- Jusuf Kalla.

	14
	MF
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement
	Those two candidates have1 different strategies.
	1
	Intralanguage error

Simplification by using present form instead of past form
	Those two candidates had1 different strategies.

	15
	MI











(1)
	The Use of Number Agreement
	… that registered their name in KPU; that is1 Prabowo Subianto – Hatta Radjasa and Joko Widodo-Jusuf Kalla
	1
	Intralanguage error

Simplification by using present form instead of past form
	… that registered their name in KPU; that were1 Prabowo Subianto – Hatta Radjasa and Joko Widodo-Jusuf Kalla

	
	
	The Use of Tense Agreement





(2)
	At this moment, we can see that Joko Widodo have1 a good reputation.
	3






(4)
	Intralanguage error1,2,3

Simplification by using present form instead of past form



(5)
	At this moment, we can see that Joko Widodo had1 a good reputation.

	
	
	
	…KPU officially announced who won the election that is2 Joko Widodo and Jusuf Kalla.
	
	
	…KPU officially announced who won the election that was2 Joko Widodo and Jusuf Kalla.

	
	
	
	(3)
Indonesian believe3 that…
	
	
	(6)
Indonesian believed3 that…

	16
	MR
	The Use of Number Agreement
	…there was some black campaign1…
	1
	Intralanguage error

Indeterminacy of the use of relative pronoun rules
	…there were some black campaigns1…

	
	
	The Use of Tense Agreement
	The election itself has1 12 parties to be contested…
	1
	Intralanguage error1,2

Simplification by using present form instead of past form
	The election itself had1 12 parties to be contested…

	
	
	
	This election is2 kind of the temperate election…
	1
	
	This election was2 kind of the temperate election…

	17
	MRR























(1)
	The Use of Number Agreement
	This is1 the big shot as a strategies2 of his campaign.
	4
	Intralanguage error1

Simplification by using present form instead of past form
	This was1 the big shot as a strategy2 of his campaign.

	
	
	
	
	
	Intralanguage error2

Indeterminacy
of number agreement rules
	

	
	
	
	Many objection1 shows up…
	
	Intralanguage error

Indeterminacy
of number agreement rules
	Many objections1 shows up…

	
	
	
	This statement became an advantages1 to the first candidate.
	
	Intralanguage error
Indeterminacy
of number agreement rules
	This statement became an advantage1 to the first candidate.

	
	
	The Use of Tense Agreement







(2)
	Joko widodo win1 Indonesia’s presidential election
	9








(4)
	Intralanguage error

Simplification by using present form instead of past form
	Joko widodo won1 Indonesia’s presidential election

	
	
	
	Jakarta governor has been declared1 the winner of …
	
	Intralanguage error

Indeterminacy of the use passive voice instead of active voice
(5)
	Jakarta governor had declared1 the winner of …



(6)

	
	
	
	(3)
Mr. Widodo has promised1 a decisive break…
	
	Intralanguage error1,2

Simplification by using present perfect form instead of past perfect form

	Mr. Widodo had promised1 a decisive break…

	
	
	
	The team of Joko Widodo has planned2 some strategies…
	
	
	The team of Joko WIdodo had planned1 some strategies…

	
	
	
	Mr. Widodo directly walk1 through inside…instead of standing above the truck and raise2 his hand.
	
	Intralanguage error1,2,3,4

Simplification by using present form instead of past form
	Mr. Widodo directly walked1 through inside…instead of standing above the truck and raising2 his hand.

	
	
	
	Mr. Widodo is3 a symbol of humble.
	
	
	Mr. Widodo was3 a symbol of humble.

	
	
	
	Many objection shows4 up…
	
	
	Many objection showed4 up…

	
	
	
	The responsibilities of Joko Widodo as a governor of Jakarta has1 not accomplished yet.
	
	Intralanguage error1,2

Simplification by using present perfect form instead of past perfect form
	The responsibilities of Joko Widodo as a governor of Jakarta had1 not accomplished yet.

	18
	RM
	The Use of Number Agreement
	12 parties was participated1
	1
	Intralanguage error

Indeterminacy
of number agreement rules
	12 parties were participated1

	
	
	The Use of Tense Agreement
	The presidential election for a 5-year term was held on July 9th 2014 which have1 two candidates
	1
	Intralanguage error

Simplification by using present form instead of past form
	The presidential election for a 5-year term which1 was held on July 9th 2014 had1 two candidates

	19
	SAP



(1)
	The Use of Number Agreement
	-
	-
	-
	-

	
	
	The Use of Tense Agreement
(2)
	Indonesian general election was1 took place on April 9th 2014
(3)
	1

(4)
	Intralanguage error

(5)
Overgeneralization of verbal past form 
	Indonesian general election  took1 place on April 9th 
(6)
2014

	
	
	
	At that time every candidates show1 their ability being a president 
	1
	Intralanguage error

Simplification by using present form instead of past form
	At that time every candidates showed1 their ability being a president 

	
	
	
	Indonesian people was1 very appreciated of this election.
	1
	Intralanguage error

Overgeneralization of verbal past form
	Indonesian people very appreciated1 of this election.

	
	
	
	…because many people share1 their opinion and wish…
	1
	Intralanguage error1,2

Simplification by using present form instead of past form
	…because many people shared1 their opinion and wish…

	
	
	
	The presidential election was very different, many issue which make2 every candidates should be careful.
	1
	
	The presidential election was very different, many issue which made2 every candidates should be careful.

	
	
	
	…but for some people Ø1 very disappointed…
	1
	Intralanguage error

Indeterminacy of tense agreement rule
	…but for some people were1 very disappointed

	
	
	
	They were claimed1 that the result…
	1
	Intralanguage error

Overgeneralization of verbal past form
	They claimed1 that the result…

	20
	SKZ






(1)
	The Use of Number Agreement
	And also another candidates is1 Mr. Prabowo Subianto
	1
	Intralanguage error

Indeterminacy of number agreement rules
	And also another candidate was1 Mr. Prabowo Subianto

	
	
	The Use of Tense Agreement

(2)
	An election of president in Indonesia is one of the crucial thing that need1 to do every five 
(3)
years.
	1


(4)
	Intralanguage error1,2,3,4

Simplification by using present
(5)
 form instead of past form
	An election of president in Indonesia is one of the crucial thing that needs1 to
(6)
 do every five years.

	
	
	
	My favorite one is2 Mr. Joko Wdodo and his partner Mr. Jusuf Kalla
	1
	
	My favorite one was2 Mr. Joko Wdodo and his partner Mr. Jusuf Kalla

	
	
	
	Their phenomenal symbol is3 their plaid shirt that become4 a famous thing to know them
	2
	
	Their phenomenal symbol was3 their plaid shirt that became4 a famous thing to know them

	Total number of the use of subject verb agreement  errors occurrences
	117
	
	



71

